Hollow Shaft Type Three-Phase 0.55 kW Non-Brake Type, Brake Type

B Specification Chart

) Brake
Number {Number Voltage Rated current | Rated revolution :
Output| of of Freq#sncy V A r/min Protection %%?Hgi Rating | Insulation Rated
phases | poles 50/60/60Hz 50/60/60Hz 50/60/60Hz Type | torqueof |Insulation
motor torque
0.55kwW Three- 4 50/60/60 200/200/220 29/26/2.5 1380/1650/1690 e;g\tgsugd masn:ﬁed Continuous | Class E Non- | Atleast Class B
' phase (400/400/440) (1.45/1.3/1.3) (1380/1650/1690) (Pad) (JC4‘1g1) excitation| 100%
Note 1: The values in parentheses under "Rated current” and "Rated revolution" are for 400 V class.
Note 2: The protective construction for the brake type is IP20.
- % Output shaft [Allowable output shaft torque|  Ajjowable output
Motor | Actual | 2®| S revolution Drawing number
Model number  |output reduction gg S r/min N-m |ikef-mi| N-m |ikef-m} shaft O.H.L. of outline
Wl reto 22 2 [ somz | somz | s0mz 60Hz N lkgfj | dimensions
10 1710 150 180 306 | {314 258 | {26} 1920 { 1961}
15 1/15 100 120 436 | {44 367 | {37 1920 { 1961
20 1/20 16| 75 9 557 | {871 | 472 | {48 2310 [ 236] [ 1]
25 1/25 60 72 606 | {62 559 | {b7 2310 { 2361
CSMAO5B5 1
30 1/30 50 60 605 | {62 562 | {b7 2650 { 2701
40 1740 375 45 990 | {10.1} 845 | {86} 3970 { 405}
50 1/50 22| 30 3 | 117 | {119 | 100 | {108} 3970 [ 405}
60 1/60 25 30 117 {11.9 108 {11.14 3970 { 405}
40 1740 375 45 113 {11.6} 950 | {97 3970 { 405}
2P
50 055 1/50 30 36 130 {13.3} 118 {12.0 3970 { 405}
60 ' 1/60 25 30 161 {16.5} 136 {13.9) 5320 { 543}
75 1/75 20 24 199 {20.3} 168 {17.14 5320 { 543}
90 1/90 16.7 20 229 {234 194 {19.8} 5320 { 543}
28 [ 4 ]
100 1/100 15 18 253 {268} | 214 {21.8 5320 { 543}
HCMAQL5 2
120 17120 12.5 15 270 {276 | 230 {23.5) 5320 { 543}
150 1/150 10 12 292 {298/ | 280 {28.6} 5320 { 543}
180 1/180 8.3 10 383 {39.1} | 327 {33.3} 9460 { 965}
32 | 5 |
200 1/200 75 9 419 {428 | 358 {36.6} 9460 { 965}
240 1/240 6.3 75 | 484 {494} | 414 {42.2} 11810 {1205}
40 [ 6 |
o« 300 1/300 5 6 587 {699} | 501 {B1.14 11810 {1205}
E Note 1: The actual reduction ratio is shown as the reduction ratio.
o Note 2: The output shaft revolution rate is calculated by dividing the synchronous motor revolution rate by the reduction ratio. Calculate the
b actual output revolution rate from the motor's rated revolution rate.
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